SH6EE

2 I A I E E SRR
BAREHEPEEEAMES

- 69 -






AR H A IE T HE R A E

1% &
(= A)
= FHIERTDO%E # IE # 3t
S S Y
1 %S R 828,506 A851 827,655
2 AL 170,591 171 170,762
3 Mt 1 7,752 7,753
= AN & &t 999,101 7,072 1,006,173

_70_




= H)

Ee FIERTO%E W 1IE # 3t
B3] £ eS|
1 WHR 8,390 171 8,561
2 BHIEREERLRESWGE 988,999 5,572 994,571
3 EBXHE& 1,212 1,329 2,541
m OH A& & 999,101 7,072 1,006,173

_71_




%

M EHE OMBEWN
[ R

i —
BT W& > o’ i s R
FH FH FH
171 0
A851 6,423
1,329
0 /A\B80 7,752

_72_




2 m A

13k BREImEnE ERREE
1R BHm s ERRES

H MIERTD%E W IE # E
/M M /M
2 LB ARRRRH 298,721 A851 297,870
B 828,506 A851 827,655
23K A&
15H #AE&
1 —BRESFHERAS 170,591 171 170,762
3 170,591 171 170,762
3K e
155 s
1 Kl 1 7,752 7,753
3 1 7,752 7,753

_73_




i 3
2 B
X 4 & #| o A
TH TH
1 BEESS A851 | i BN B
1 BEEERAE 171 | FEE/AE
1 RIEERSE 7,752 | ATEEME S

B miEE BRI

_74_




3 wm H
1% REE

25 UE
M EHEOOMEARNR
A MIERTOHE IE%E Ha % & Bt b4 R
EHEXHE | #HE Zo, ‘
F Fy Fi FH FH FH FH
1 g 2,636 171 2,807 171
§ 2,636 171 2,807 0 0 171 0
23K %M SN E BN IEOE S &
13H %G BN EE S &
1 #EERE 988,999 5,572 994,571 A851 6,423
=R I
A&
& 988,999 5,572 994,571 0 0 A851 6,423
3K #EXH&E
2TH &
1 —SFH 1 1,329 1,330 1,329
Hé
§ 1 1,329 1,330 0 0 0 1,329

_75_




B 7 ¥ AN F
X & #H

Fy Fiy FH
11 ®&%%& 171 | EXH BINES 171

18 AH&mMmEKA 5,572 | 1B & B EE ERILE AW &
VA& 5,572
27 & 1,329 | —fkSitti & —RESF RS 1,329
®E R ERAIAE

_76_




